CH30S Aliphatic Worksheet

Names and Structures of Alkanes:
1. Name the following molecules:
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4, Draw the structural formulas for the following compounds:
a. 3-ethyl hexane

o

. 2,4-dimethy! heptane ,

!
CH,

CH,

Lnethyl C?-prcp.,] [ neacns

e¢ b mEn
('H 3 iy
c. 3,4-diethyl 3-methyl hexane <l
C:b (‘IH_)_ O
C-C—(‘T'C"C’ ¢~
cH,
d. 2-methyl butane cis
ot v !
N
Cdds
s =
e. 3-ethyl 4-propyl octane
e
A ' i . t 1 ! |
(- C¢-C-CmC-C 76
' Cly -
\
f. 3-ethy! 2,4-dimethyl pentane ﬁ“i
(H
s (s
' | }
_(I_&_’Cl_c(_ Ll_..
‘ ¢

CHj ,
3,H - df'ﬂ’bﬂﬁ‘f"] { /\Lx A ro—




Names and Structures of Alkenes & Alkynes
1. Name the following compounds:
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2. Draw structural formulas for the following compounds:

a. 2-methyl propene b. 2,4-dimethyl pentane
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¢. 3-methyl 2-octene d. 3-ethyl 4-methyl 2-hexene
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Misc Questions:
1. Why is the name 2-ethyl 2,4-dimethyl hexane unsuitable for the following compound?
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2. What is the difference between a satprated and an unsaturated hydrocarbon?
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3. Use the general formula for alkanes to fill in the missing subscript for each of the following:

a. szHjLL b. CaoH 00 _ ¢. CA2Has

4. Use the general formula for alkenes to fill in the missing subscript:

a. CiH_2¢ b. C.g/His ¢. CHig

5. Fill in the missing subscript for the following alkynes:

a. Ci3H 24 b. CisH 2 & ¢. CldHa

6. What is wrong with the following:
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